General information!

Ipeak [A]
= peak current

Upeak [V] 
= peak voltage

Iavg. [A]
= average current

(= rms = root mean sqare )

Uavg. [V]
= average voltage

(= rms )


( current and voltage for calculating the average power

Ppeak [W]
= peak power
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example a)

Upeak
= 400 V

R 

=  3,2 (
f  

= 100 Hz

ti  

= 100 (s
[image: image61.wmf]f

C

Upeak

T

Ppeak

f

E

Pavg

´

´

=

´

´

=

´

=

2

²

1

2

.

t

[image: image62.wmf]3

2

1

E

E

E

Etotal

+

+

=


[image: image63.wmf]R

Pavg

Uavg

´

=

.

.


[image: image64.wmf]T

Etotal

f

Etotal

Pavg

1

.

´

=

´

=


[image: image65.wmf]2

1

)

(

E

E

periode

per

Etotal

+

=


[image: image66.wmf]T

Etotal

f

Etotal

Pavg

1

.

´

=

´

=


[image: image67.wmf]Ipeak

Upeak


[image: image68.wmf]Ipeak

Upeak


b.)  triangle pulse

(current = voltage)
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example b)

Upeak
= 400 V
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= 3,2 (
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c.)  triangular pulse power
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d.) e-function
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e.)  other pulseforms























example e)

R
= 3,2 (
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E2
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